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Before answering the question, ensure that you have been supplied the correc. .nd

complete question paper, no claim in this regard, will be entertained after
examination.
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(i) 97 FE 1 § 35 TF FEGAT I & TOE F9T 1 HF # &

Questions from 1 to 35 are objective type questions. Each question is of
1 mark.

#7 RT 79 q8% 757 F a8 oifew IggFd Re g

Select the most appropriate option from those given below in each
qguestion :

L. +1pC @ +4uC & @ AT -3 & 38 g W 9y & Red 31 & W &F I

T H I 2 ’
(A) 1:4 B) 4:1
(C) 1:1 D) 1:16

Two charges +1pCand +4uC are situated at a distance in air. The ratio of

forces acting on them is :
(A) 1:4 B) 4:1

iy 1:1 D) 1:16

2. & T 9RAT C 9 e B ded Sofiey § o 9 ° guaR w0 Ser S 8

QM1 AT F Jed RIS H S B 1
@A) 9:1 (B) 6:1
€) 3:1 D) 1:9

Three capacitors of equal capacity C are joined first in series and then in

parallel. The ratio of equivalent capacities in both the cases will be :
A) 9:1 (B) 6:1

(C) 3:1 D) 1:9
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3. fafre-gidy & a=F @ 1
(A) -1t
(B) amm-it!
(C) &t Hr
(D) &

The unit of Specific resistance is :
(A) ohm-m

(B) ohm-m™!

(C) ohm™ —m™}

(D) ohm™! -m

4, UF 9EE DI dleedl (v) T U () B 9 G TP XA @ € S y-o1 (S 7% i gl

FA E) & 0 BT qRI 1 AGE B ARIAT B 1
(A) tan @ (B) cot8
(C] sin© (D) cos B

The graph between voltage (v) and current (i) for a conductor is a straight line
which makes an angle 6 with y-axis (representing i). The resistance of the
Conductor will be :

(A) tan @ (B) cot®

(C) sin © (D) cos©
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S. Tt T TR 89 ¥ 0F Sad &5 3 TEaq 499 B 8 SR & qw e o

(A) TRITATER (B) dHgaIER
(C) Fum™R (D) YW s

An electron enters into a uniform magnetic field perpendicularly to it. The path
of the electron would be :

(A) Elliptical (B) Circular
(C) Parabolic (D) Linear
6. I &7 (B) B GAMET I (v) § TRHAH ART q T T a0 9 8 1
&) =L B 2XZ
vxX B q
(C) g(vxB) (D) Zero

The force (F) acting on a particle of charge q moving with velocity (E)parajlel to

magnetic field {E] is :

A =2 B ZZ
vx B q
(C) q(vxB) (D) Zero

7. OF rscll & [ @REE 2 mH 21 390 99 910 W6 A W 10° AR/ aFS B 3EH
ARG 9”S 9 ¢ ¢ 1

(A) 13 (B) 2 dke
(C) 3aw (D) 4ae



For a coil-having self Inductance 2 mH,

(A)

1 volt

(C) 3 volt

(5)

1033111pere/ sec in it. The emf induced in it is :

(B) 2 volt

(D) 4 volt

8. o1 o1 fm frg Afas Ui & g o angfg 2 7

(A)

AR B

(C) Sout &

Lenz's Law is a Consequence of the Law of Conservation of :

(A)

(C)

charge

energy

9. Wit # uf™edr 26t 8 ¢

(A)
(B)
(C)

(D) qUi SIS WEa+ &

Mirage is a phenomena due to :

(A)
(B)
(C)

(D)

WEdE 4
fagqor 3
PCAMC K]

Reflection
Dispersion
Scattering

Total Internal Reflection

(B) HaT %
(D) Z=HF &

(B) momentum

(D) mass

228

current flows at a rate of
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10. U5 [5-O0d o9 & Qi dol ! ahdl-Fegid R §UET & a9 S8 Suda+is 1.5 81 o

ﬁﬁﬂ?‘ﬂ—{ﬁ'&?ﬁ?f: 1
(A) R/2 (B) R
(C) -R (D) 2R

The two Surfaces of a bi-convex Lens have equal radii of curvature R and its
refractive Index nis 1.5. The focal Length of the Lens will be :

(A) R/2 (B) R

(C) -R (D) 2R

11. T o9 & ) orqaq foaee & ®I97 om e &0 g &1 Fr A 31 B 3wt @\

A & 1
A+dm . A
(A) sin 2 ] (B) smE
. (A+dm
) _SnA/2 D) Sm( 2 }
: [A+5m] sinA /2
sin 3

The angle of minimum deviation for a prism is ém and the angle of prism is A.

The refractive index of the material of the prism is :

(A) sin [ 4 +28m j (B) sin2
| sin (A +om J
€ sin A/2 2

.n[AJer) (D) sinA/2
si 5
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12. g & yBIsT F 9@ 3x10°Ho/qo B 4/3 SUAHHIF aA T F T HI AT ERA

(A) 1.5x 10%m/s
(B) 2)(108me
(C) 1x10®m/s

(D) 2.25x10%°m/s

Speed of Light in air is 3x10%m/s. For the water of refractive Index 4/3, the
speed of light will be :

(A) 1.5 x 10%m/s
(B) 2><108m/s
(C) 1x10%°m/s

(D) 2.25%x10%m/s

13. s U< 9 TR a9 SERid 8l ¢ Selh 7% R Aufad i # el 1
(A) 3l TR | FH B
(B) 3eqit omgfa & ot &
(C) & TR & st o
(D) SMERY H 1§ YA TE B
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Electron emission from a metallic surface is possible only, when Frequency of
the incident Light is :

(A) Less Then threshold Frequency
(B) Half of the Threshold Frequency
(C) Greater than the Threshold Frequency

(D) No effect of Frequency

14. fFet 1REE F91 @ T IR aERH ¢

(A) TS TATE B STFHAAC &
(B) FHH Tl B SFPHATIRT 8
(C) 39 €I B SFTHANUEH &
(D) 8% HAT & FGoHAIJU! &

The de-Brogile wavelength associated with a moving particle is :
(A) Directly proportional to its mass

(B} Directly proportional to its energy

(C) Directly proportional to its momentum

(D) Inversely proportional to its momentum



(9)
15. FEgeM qw A r e @ w0 e B e S @

A) - 1 e’ (B) 1 e’
dney r dne, 2r
€) 1 e? D) - 1 e?
4neqy r 4neqy 2r

28

In hydrogen atom, the Kinetic energy of electron in an orbit of radius r is given

by :
1 e? 1 e?
(A) - .— (B) o —_—
4ney r ey 2r
1 e? 1 e’
© — = R T
Teg T 4rne, 2r

16. ggefmm ((H?) & T 7 I & TSR & e erll ¢

(A) 2 9RH

(B) 14RNH @@ 1 g

(C) 27

(D) 19%H T§ 1 sdae™
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Number and type of nucleons in the nucleus of Deuterium [IHQ] will be :
(A) 2 protons
(B) 1 proton and 1 neutron
(C}] 2 neutrons

(D} 1 proton and 1 electron

17. ug =M #1 S ave o § R@mn m™n § 9@ v gdet e @ ¢ gee 9§, 3 gwEr
g 1

C

E, < 3eV

)

(A) TEH (B) TS
(C) FEES D) &

Energy band of a substance is shown in Figure. Where V is valence band and
C 1s conduction band.

C
E; < 3eV
s
i
v %
(A) Conductor (B) Semi conductor
(C) Insulator (D) Diamond

228/ 11



18. 1 TRy & oSS ¥ UGS AN a6 8ld & ° 1

(A) T (B) &
(C) INEH T B (D) & 8 I3 &
In a n-type Semi Conductor the minority charge carriers are :
(A) Electron (B) Hole
(C) Electron and hole (D) None of these
JygFT gt & Raa @il # gid #fe -
Fill in the blanks with Appropriate answer :
19. P A T B 1

Voltisunitof .................. .

20. fRdt o & QU T awd @ yaifed o)1 39 &hd d 9 S §99 § S il AT
................ BT B 1

Current through a given area of a conductor is the net ................ passing per

unit time through the area.

21. g P G W 39 99 8 B T A 3 fw 9 aRer saws B e 89 &
aforT srarE, gesr R o . | 1

Three quantities are needed to specify the magnetic field of the Earth on its

Surface-the horizontal component, the magnetic declination and .................
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22. et gamEdt g/ StE F it S B e, 7 wuaiT F Bl 1

In an ac generator, mechanical Energy is converted to ............ .

23. X f, v-f6T0 o WA T F FEld T wee W A I e
ST EKiT 2 1

X-rays fy-rays and radiowaves are propagating in vacuum, there ...................

will be same but frequencies will be different.

24. [gq AN ¥ fRe wrem # omofod fROT B R g€ B & s o
YT BT 90° B 1
The oo, angle for a ray incident from a denser to rarer medium, is

that angle for which the angle of refraction is 90°.

25. A TORH B B B FA .ooeveennnenn, Bl 1

The energy of photon of wavelength Ais ..................... .

26. TIHE-ARST § G H Faied & S FEE I dEY OF N Ae 7 daiEd

i AR | RS T3 TR N TR FLG B 1
In Rutherford's model, most of the mass of the atom and all its positive chargg
are concentrated in a tiny nucleus and the .............. revolved around it.

27. TS H TRl B GG (ne) Bl €& (np) T 2l &l 1

The number of electrons (n.) is equal to the number of holes (n,) in ............

Semi conductors.

228/ 1l
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fA=ifda & aue g -

Answer the following :
28. 91 9@ (J), AR ST (o) T IEA &7 (B) ¥ T & g [ 1

Write down the formula for the relation of current density (J) specific

conductivity (6) and the electric field (E).

29. 9 3 Bgd 9% I U Piw e § e R 1

Write relation between Electromotive force and terminal potential difference for

a cell.

30. Hwe R § weRia dRew § APB @1 AQB & & AFI &l 1 & &% O W T=&d &%
47 BN 7 1

Consider the circuit shown where APB and AQB are parts of square. What will

be the Magnetic field at the centre O of the square.
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31. + 5 SEIET T - 5 SHICT &9 49 & U o9 9% & @ & 39 GaN I &9 S
i) 1

Two thin Lenses of power +5 dioptre and -5 dioptre are placed in contact. Find

the power of this Combination.

32. Fg ¥ g Waghl 1 3 yHy ) T g9 ARG Bl 2 7 1

For which spectral colour of Light is the speed Maximum in glass ?

33. 41 & WM A T G F WE | AT A B G FE TR FE W/ @
ISR T T GAE G2 7 1

In Young's experiment what will be the effect on fringe-width on using yellow

colour light of sodium Lamp in place of violet colour light ?

34. F i foFed gemm d@ 1 : 8 % oUW A B 3@ NG S & STUW
B 7 1

Two nuclei have mass numbers in the ratio 1 : 8. What is the ratio of nuclear

density ?
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35. ¥ W R & g sAis sw-RFT B oTHET Iohu-IRE 1

—1QV |\| +7V
|

Is the Junction diode D is forward or reverse biased, in the given diagram

~10V [\l +7V
1



